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Lesson 1

I. READING COMPREHENSION
True or false according to the text:
1.

It is certain that ancient man made tools of wood, skins as well
as stone.

The way for people all over the world nowadays to keep their
history is to hand it down as legends from generation to genera-
tion. »

It may be inferred from the passage that ancient people also
moved from place to place.

Archeologists can’t find out where the first “modern men” were

from because they have neither legends nor history to draw on.

. Ancient people made tools of stone because it is shapeable.

. The earliest tool makers died but their bones and tools can still

be found.

. The people who first learned how to write came from Indonesia

about 2000 years ago.
Legends handed down from generation to generation are of little
use because they don’t tell us what the ancient people did.

9. Every part of the world now has its own writing system.

10. Stone tools have survived so many years because they don’t de-

cay.

I. NOTES TO THE TEXT
read of things that happened 5000 years ago (L. 1) Notice the use of

preposition “of” in the following expressions:
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read of sb in today’s paper; hear of one’s name a long ago; tell

of the heroic deeds of the young man.

. preserve their history (L. 3)

to preserve is to keep or maintain in an unchanged or perfect
condition: Efforts to preserve the nature haven’t been very suc-

cessful.
cf. reserve a room in a hotel ; deserve punishment; serve the

people whole-heartedly.

. recount (L. 4) (give a detailed account of ) one’s experiences,

misfortune.
saga (L. 4): (n) sagacious (adj): showing wisdom and good

judgment; a sagacious person

. hand down (L. 4): pass on by tradition, inheritance; stories

handed down from generation to generation; cf. hand in one’
exercises. '

migration of people(L. 6) from one place to another place;
immigration of people into another country; cf:emigration of
people out of a country.

ancestor(L. 7) (opp): descendent

wonder (L. 8) what to do at weekend; wander in the street

to shape(L. 14); to give a shape or form to: His attitudes were
partly shaped by early experiences; Your hat is our of shape
(n); The shirt has been washed many times and yet it still
keeps its shape (n).

10. rot away(L. 15): decay naturally through the agtion of bacteri-

a, etc: The wood has rotted away completely.

11. without trace(L. 17); tracelessly, without any sign or mark.

Age has left its trace on his face; Notice: trace element.
* 2 [ 3



12. Expressions to learn and use: read of (L.1), hand down (L. 4),
to shape (L. 14), rot away (L. 15) without trace (L.17)

I. EXERCISES
1. Choose the best answer :
1) It is advisable that you __ a room in that hotel well in advance.
A presefve B) deserve C) reserve D) serve
2) The traveller  what he had seen in that strange country.
A) accounted for B) counted on C) talked D) recounted
3) These overseas Chinese would __the tradition to their next
generation.
A) put down . B) take down C) hand down D) turn down
4) ___of birds has much to do with the climate while the ___ of
these people into Japan has much to do with wealth.
A) Immigration; immigration B) Migration; emigration
C) Emigration; immigration D) Migration; immigration
5) They __ the bad news for they looked pale.
A) should have learned B) needn’t have learned
C) must have learned D) may learn
6) As he ate too much sugar, his teeth
A) delayed B) pluyed C) decayed D) swayed
7) The packed food is no longer eatable. It is .
A) out of shape B) out of fashion
C) out of order D) out of date
8) Do you know who ___lived on this island?
A) first of all B) first C) at firstly D) firstly

2. Fill in the blanks with suitable prepositions or adverbs



1) Have you heard ___ her divorce?

2) The much used dictionary is ____ shape.

3) Good tradition should be handed _ generation ____ gen-
eration.

4) 1 haven’t the slightest idea where these strangely-dressed people
come ____ '

5) Some branches of the tree have rotted .

6) To my amazement, the little boy could speak English ___a
trace of the Chinese accent.

7) The two students looked __twins.

8) Their history is often recounted ___sagas.

3. Translation. :

D SEREsN, B-MVREXBLEEEET .

2) BT M RRRE, RRik .

3 WENENRME IR FTREITRB /DA RHRET R 4B .

O R T ZH R BRI R R 0E.

5) RANAEEMIIAKE—F B EMBIIRHR.

6) Fk EMRXEREE LT UERRN—RILTERMA NN ES
HR.

KEY TO READING COMPREHENSION
I.F 22F 3T 4T 57T 6F 7.F 8 F 9. F 10. F

KEY TO EXERCISES
L.DC 2D 3)C D 5C 6C 7D 8B
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2. 1) of 2) out of 3) down, from, to 4) from 5) away
6) without 7) like 8) as
3. 1) When the police arrived, the two thieves had fled without
trace. '
2) When we heard of the killing, we felt deep regret.
3) Many people often wonder how it is so that they can still re-
member what happened to them when they were very young.
4) Needless to say, extensive reading will help us (to) improve
our spoken English.
5) The only way that we can get to understand others is to com-
municate with tflem.
6) The marks on the stone somehow tell us something about
the way of life of people thousands of years ago.
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Lesson 2

I

. READING COMPREHENSION
True or false according to the text:

. According to the ‘writer , spiders should be our friends because

they protect the human race from being harmed by insects.

In the passage the writet suggests that man might not be able to
exist on the earth if there were no spiders.

We should thank other’insect-eating animals too, because they
not only destroy insects but do little harm to human beings.

. Many people know that spiders are not insects since they always

have eight legs.

. According to the writer, it is not difficult for us to tell the dif-

ference between a spider and an insect.

. One spider expert has found that there are about 6,000,000 spi-

ders of various kinds on a football field.

Although it is impossible for us to know exactly how many in-
sects that spiders kill each year, we can try our best to make a
reasonable guess at the number.

Spiders are busy killing insects because they have to eat a lot to
satisfy their appetite.

According to the passage, the insects destroyed by spiders in
Britain in one year weigh more than all the British people put
together.

10. It seems that the writer is asking us to like and protect spiders

in order to get protection from them in return.

.
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I. NOTES TO THE TEXT

1. include (1. 2)
to have as a part
There are six people in the room, including three women.
cf: Contain—to have within itself &
e. g This book contains several maps. (The maps exist in the
book)
cf; These maps include one of China. (One of these maps is that
of China)

2. if it were not for the protection** (1. 4)
If it were not for-+Noun Phrase
e.g. If it were not for the sun, all the living things would die.
cf: If it had not been for-+noun phrase
e.g. If it had not been for the help we got from you, we would
never have succeeded.
An inverted order is possible for the above two structures;
Were it not for+NP--
Had it not been for+NP--+
The simplified form for the two structures can be “but for”--
But for the sun-+ '
But for the help we got from you-

3. but all of them put together kill only a fraction of the number
destroyed by spiders. (I. 6-7)
Here, put together is a past participle phrase, serving as an ad-
verbial of condition, meaning “if combined. ”
e.g. His share was more than all the others’ put together.

4. a fraction of the number (1. 6)
fraction—a very small piece or amount.
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cf. faction—a group or party within a large group.
fiction —stories or novels.
friction —the force which tries to stop one surface sliding over

another.

. spiders nmever do the least harm to our belongings (1. 7-8)

do harm to someone

do someone harm

cf. do damage to something/do something damage

e.g. The storm did a lot of damage to the buildings.

do good to someone/do someone good

e.g. It will do him good to have to look after himself:

maybe he won be so selfish in future.

do a favour for someone/do someone a favour

e.g. Do me a favour by turning off that radio!

do honour to sb/do sb honour

Crowds of people lined the streets to do him honour.

Spiders are not insects, as many people think, nor even nearly
related to them(l. 9);

Many peopie think that spiders are insects, but actually,

they are not, and the two have little connection at all.

cf. As many people think, spiders are not insects.

(=We, as well as many other people, think that spiders are not

insects. )

. at a: glance (1. 10)

with one look; at once

e.g- I can see at a glance that she’s annoyed.

A glance is a quick look at something; to glance at something is
to look at it quickly: she glanced at her watch but failed to see
e 8



the time because of the darkness.
A glimpse is a momentary sight of something:
She caught a sudden glimpse of herself in the mirror and found
herself look pale.
The preposition that usually goes with glance is “at” while that
with glimpse is “of”.
Notice also: peer, stare, gaze, gape
8. How many spiders are engaged in this world on our behalf? (1.12)
be engaged in—be busy with
e. g« The old lady is engaged in making clothes for her
neighbours’ children.
on one’s behalf/on behalf of someone
for someone, in the interests of someone, as the representative
of someone.
e. g. He spoke on behalf of all residents of the block.
9. be estimated that---(l. 14)
of : over-estimate, under-estimate
10. that is something like 6,000,000 spiders++- (I. 14-15)
something like—about
e.g. It must be something like seven o’clock.
11. It is impossible to make more than the wildest guess at how
many they kill, -+ (l. 16-17)
No matter how hard you try, you can’t possibly get to know
the exact number (of the insects) they kill, -+
a wild (=not reasonable) guess
12. Expressions to learn and use:
if it were not for (. 4), owe a lot to (I. 5), put together (. 6),
a fraction of (l. 6), do harm to (I. 8), related to (1.9),
Qs



tell the difference at a glance (1. 10), on one’s behalf (1. 12),
make the wildest guess at (I. 17), be content with (1. 17),
It is estimated that (I. 18)

B. EXERCISES
1. Choose the best answer:
1) Orange juice ___things which help keep you healthy.
A) owns B) includes C) contains D) enjoys
2) She’s very careful with her money, and spends only a ____of her
earnings.
A) fraction B) faction C) fiction D) friction
3) This fresh air will do you ___after being in the house all day.
A) a favour B) good C) honour D) well
4) I only caught a____of the parcel, so I can’t guess what was in-
side it.
A) glance B) look C) vision D) glimpse
5) John and his brother are engaged ___some plan for starting a
car factory.
A) with B)for C)at D)in
6) Drinking too much will ___ your health.
A) do da‘mége to B) do harm to
C) do damage on D) do harm on
7) But for the kind old man, we ___ our way.
A) would lose B) should lose
C) would have lost D) would have losed
'8) The total cost will be .~ like five pounds.
A) anything B) nothing C) something D) /
9) __ , the two classes consist of 100 students.
210



A) To be put together B) Putted together
C) Having put together D) Put together
10) Could you ___the difference between these two words.
A) say B) point C) tell D) speak

2. Fill in the blanks with suitable prepositions where necessary:

1) I'd have been lost but ___ you.

2) It does good __ you to have more fresh air and sunlight.

3) They worked hard all their lives __ behalf of the poor.

4) The total cost for the project will be something 10 million
dollars.

5) We should never rest content __book knowledge only.

3. Translation:

D EARTH.RINERBFILT .

2) EFHAERMA D ME—TL N 8000 77,
3) RABRS FHfhTHE S-S A RIA .
1) HRELARELFOER L — N ABRE I,
5) ffi1EMLFITHEE.

KEY TO READING COMPREHENSION
1. T 2.T 3.F 4F 5.T 6.F 7.F 8T 9.T 10.T

KEY TO EXERCISES
.ODC 2A 3B 4D 5D 6B 7C 8C 9D
10) C
2. 1) for 2)to 3)on 4)like 5) with
o1l »



3. 1) If it had not been for the rain, we would have already got
there.
2) Put together, the two countries have a population of about
80 million.
3) You mustn’t overestimate yourself or underestimate others.
4) It’s impossible for you to make more than the widest guess at
how much he earns each month.

5) They are busy cleaning the classroom.

e 12



Lesson 3

I.

READING COMPREHENSION

Choose the best answers to complete the following sentences according

to the text:

1.

Modern mountain climbers will climb mountains by the most
difficult route because
A) they want to conquer the mountain
B) they can seek pleasure in the sport
C) they want to win money
D) they want to be pioneers
In old days, mountain climbers would take the easiest way be-
cause .
A) they just wanted to get to the summit
B) they hadn’t enough money to take the difficult route
C) they were too lazy to take the hard one
D) they had enjoyed the hard way
Alpine villages tended to be poor settlement because .
A) all the trees had been cut down
B) they were separated from civilization by high mountains
C) villagers there were not hospitable
D) zermatt and Chamonix were too popular
From the passage, we can conclude
A) climbers could enjoy very good food in the. Alps
B) the Alps was a quite good place except for the food
C) climbers would find themselves in a dreadful situation in the
Alps
v 13



D) the Alps enjoyed a very large number of visitations from the
climbers

Which of the following statements is incorrect?

A) In the Alps, people were all very poor, even the local priest

B) Both food and drink in the Alps were terrible

C) If a climber spent a night at an Alps inn, he had to fight with

fleas there ' ,

D) Visitors to the Alps would refuse to leave the place as they

enjoyed themselves greatly.

I. NOTES TO THE TEXT

1.

route(L. 1) : way taken to get from one place to another:

We drove home by a roundabout route.

cf. routine: fixed or regular way of doing things

My father found it hard to establish a new routine after retire-

ment.

. the case(L. 3); true;

He said he had been to Paris, but that’s not the case.

Notice also: in this (that) case

e.g. “I don’ like the job”“In that case, why don* you leave?”
a case in points a typical example.

e.g. Hard work can make up for one’s mental slowness.

Tom’s success is just a case in point.

3. the summit(L. 4) of a mountain/of one’s career

4. attain(L.5): achieve; succeed in getting

attain a position of power; attain one’s goal; attainment (n.)
of the most perjlous nature(L. 6) : of the most dangerous kind
perilous (adj); peril(n) (serious danger)

. 14 .



